THE BERNSTEIN-VON MISES THEOREM FOR A CERTAIN CLASS OF DIFFUSION PROCESSES

By ARUP BASU

Indian Statistical Institute

SUMMARY. The Bernstein-von Misse theorem, showing that the posterior density, v_{ij} properly normalized, converges to a normal density, is proved for a certain class of $difi_{m_i}$ processes arising as solutions to non-linear stochastic differential equations. As a splicish the m.l.e, and Bayes estimators for smooth loss functions and smooth priors, turn out la_{ij} asymptotically normal. The parameter space is assumed to be a compact subset of χ_{ij} .

1. Introduction

In this paper, we prove that under certain regularity conditions, the Bernstein-von Mises theorem holds for a class of diffusion processes arising as solutions to stochastic differential equations. For the linear case, the result was proved by Prakasa Rao (1980). For other results in this direction see Borwanker, Kallianpur and Prakasa Rao (1971) and Hipp and Michi (1976).

As a consequence of the main theorem, we obtain that the m.l.e., as Bayes estimators for smooth loss functions and smooth priors are asymptotically normal. These problems have also been studied by others, usix different approaches. See Basawa and Prakasa Rao (1980) for a list of references. Recently Prakasa Rao and Rubin (1981) have proved its asymptotic normality of m.l.e. (in the one dimensional case) by using Fouriar analytic methods. For higher dimensional parameter space, this was provided by Basu (1983), using Kolmogorov type inequalities from the theory of diffusion processes.

The intermediate results which led to the main theorem are as is Borwanker et al. (1971). The technique used is similar in spirit to what is used in Basu (1983).

Let (X(t): t > 0) be a real-valued, stationary ergodic process satisfy the stochastic differential equation,

$$dX(t) = f(\theta_0, X(t))dt + d\xi(t), X(0) = X_0, E(X_0^2) < \infty, t > 0$$

and $(\xi(t): t > 0)$ is a standard Wiener process.

The conditions under which such a solution exists can be found in Khasminskii (1960). See also Gikhman and Skorokhod (1972).

 $f(\theta,x)$ is a real-valued function on $\Omega \times \mathcal{R}$, where $\Omega = \{\theta \in \mathcal{R}^d : \|\theta\| \leqslant 1\}$, $d \geqslant 1$ (finite) and $\theta_0 \in \Omega^0$ (the interior of Ω) is the unknown "true-value".

The following conditions will be assumed on f. Let $L(\theta)$ be a function of θ such that $\sup \{L(\theta): \theta \in \Omega\} < \infty$

- Al (i) f is continuous on $\Omega \times \mathcal{R}$.
 - (ii) $|f(\theta,x)| \leq L(\theta)(1+|x|) \forall \theta \in \Omega, \forall x \in \mathbb{Z}$.
 - (iii) $|f(\theta, x) f(\theta, y)| \le L(\theta) |x y| + \theta \in \Omega, \forall x, y \in \mathbb{R}$.
 - (iv) $|f(\theta, x) f(\phi, x)| \le J(x) |\theta \phi| + \theta, \phi \in \Omega, \forall x \in \mathbb{Z}.$ where $J(\cdot)$ is continuous and $E(|J(X(0))|^{d+x_0}) < \infty$ for some $d+x_0 \ge 2$.
 - $(\triangledown) \ I(\theta) = E[(f(\theta, X(0)) f(\theta_0, X(0))^3] > 0 \forall \theta \neq \theta_0.$
- A2 (i) The partial derivatives $f_i^{(i)}$ of f w.r.t. θ_i (where $\theta' = (\theta_1, ..., \theta_d)$) exist $\forall i = 1, 2, ..., d$.

 Denote by $f_i^{(i)}(\theta^{\bullet}, x)$ the derivative evaluated at (θ^{\bullet}, x) .
 - (ii) $|f_{\theta}^{(i)}(\theta, x) f_{\theta}^{(i)}(\phi, x)| < J(x) |\theta \phi| \forall \theta, \phi \in \Omega, \forall x \in \mathbb{R}$ $\forall i = 1, 2, ..., d$ and J is as in Al(iv).
 - (iii) $|f(\theta(\theta, x))| \leq L(\theta)(1+|x|) \forall \theta \in \Omega, \quad x \in \mathcal{H}, i = 1, 2, ..., d.$
- A3 The partial derivative $\frac{\partial^2}{\partial \theta_i \partial \theta_j} f(\theta, x) \forall i, j = 1, ..., d$ exists and are continuous. Moreover, they satisfy A2(ii) and (iii).

Under the given condition Al(i), $(X(t):t \ge 0)$ is a.s. continuous. Let μ_t^T denote the measure induced by $(X(t):0 \le t \le T)$ on $\mathfrak{C}[0,T]$, when θ is the true value. (Here $\mathfrak{C}[0,T]$ is the space of all real-valued continuous functions on [0,T], and is endowed with the support topology).

It is well known that under given conditions on f,

$$\begin{split} L_T(\theta) &= \frac{d\mu_T^T}{d\mu_{\theta_0}^T} \left(X(t) : 0 \leqslant t \leqslant T \right) \\ &= \exp \left(\int_{\delta}^T \left[f(\theta, X(s) - f(\theta_0, X(s))] d\xi(s) \right. \\ &\left. - \frac{1}{2} \int_{\delta}^T \left[f(\theta, X(s)) - f(\theta_0, X(s)) \right]^n ds \right) \end{split}$$

is the Radon-Nikodvm derivative of μ_b^{π} w.r.t. $\mu_{b_0}^{\pi}$, (See Gikhman and Skorokhod, 1972 for details.)

Assume that there exists an estimator θ_T which minimizes $L_T(\theta)$ one $\theta \in \Omega$. Then θ_T is the m.l.e. when the process X(t) is observed over $[0, \tilde{\eta}]$ It has been shown in Basu (1983) that under A1, θ_T is strongly consistent

Suppose now that Λ is a prior probability on (Ω, \mathcal{B}) , where \mathcal{B} is \mathbb{I}_k σ -algebra of Borel subsets of Ω . Assume that Λ has a density $\lambda(\cdot)$ with the Lebesgue measure and the density is continuous and positive in an $\mathbb{I}_{[\Omega]}$ neighbourhood of θ_o .

The posterior density of θ given $(X(t): 0 \le t \le T)$ is

$$p(\theta/X(t):0 < t < T)$$

$$=\frac{d\mu_{\overline{\delta}}}{d\mu_{\overline{\delta}_0}^2}(X(t):0\leqslant t\leqslant T)\lambda(\theta)\bigg/\int\limits_0^t\frac{d\mu_{\overline{\delta}}^2}{d\mu_{\overline{\delta}_0}^2}(X(t):0\leqslant t\leqslant T)\lambda(\theta)d\theta.$$

Let $t = \sqrt{T(\theta - \theta_T)}$. Then the posterior density of $\sqrt{T(\theta - \theta_T)}$ is

$$p^{\bullet}(t/X(t): 0 \le t \le T) = \frac{1}{\sqrt{T}} p \left(\theta_T + \frac{t}{\sqrt{T}} / X(t): 0 \le t \le T\right).$$

Before we prove any result, we would like to make the following important remark.

Remark 1: Under the given conditions A1-A3 on f, all the stochastic integrals occurring henceforth can be defined path-wise. Further it is possible to differentiate (w.r.t. θ_i 's) within the stochastic integral (indeed path-wise outside a fixed null set of our basic probability space.) See Karandikas (1983) for details.

For the rest of the paper, we shall assume that d=1. With proper modifications, every argument in this special case goes through for higher dimensions. We will continue writing d in general.

We shall assume that solution of $\frac{\partial}{\partial \theta} \log L_T(\theta) = 0$ gives m.l.e. θ_T . Thus $\frac{\partial}{\partial \theta} \log L_T(\theta)|_{\theta=\theta_T} = 0$, and hence by Remark 1, outside a fixed null selfwhich henceforth we drop out of consideration), we have the following orunial equality.

$$\int\limits_{1}^{T} f'(\theta_{T}, X(s)) d\overline{\xi}(s) = \int\limits_{1}^{T} f'(\theta_{T}, X(s)) [f(\theta_{T}, X(s)) - f(\theta_{0}, X(s))] ds. \quad \dots \quad {}^{\{1\}}$$

Let

$$\begin{split} \gamma_{T}(t) &= \frac{d\mu_{\theta_{T}}^{2} + \frac{i}{\sqrt{T}} \int d\mu_{\theta_{0}}^{2} \left(X(t) : 0 \leqslant t \leqslant T \right)}{d\mu_{\theta_{T}}^{2} l d\mu_{\theta_{0}}^{2} \left(X(t) : 0 \leqslant t \leqslant T \right)}, \\ C_{T} &= \int_{-\infty}^{\pi} \gamma_{T}(t) \lambda \left(\theta_{T} + \frac{t}{\sqrt{T}} \right) dt, \\ I_{T}(\theta) &= \int_{0}^{T} \left[f(\theta, X(s)) - f(\theta_{0}, X(s))^{2} ds, \right. \\ \beta &= E[\left(f'(\theta_{0}, X(0))\right)^{2}], \quad \text{Assume } \beta > 0. \end{split}$$

Clearly

$$p^{\bullet}(t|X(t): 0 \le t \le T) = C_T^{-1}\gamma_T(t)\lambda\left(\theta_T + \frac{t}{\lambda/T}\right).$$

Lemma 1: Under A1, for every $\delta > 0$

$$\lim_{T\to\infty}\inf_{\|\theta-\theta_0\|>\delta}\frac{I_T(\theta)}{T}=\lambda(\delta)\ (>0)\ a.s.$$

Proof: This is proved in Prakasa Rao and Rubin (1981).

Lemma 2: Under A3,

$$\lim_{T\to\infty} \ \frac{1}{T} \int\limits_0^T f''(\theta_0,X(s)) d\xi(s) = 0 \ a.s.$$

(f'' is second derivative w.r.t. θ).

Proof: $g(t) = \int_0^t f''(\theta_0, X(s)) d\xi(s)$ is a continuous martingale. Hence by the martingale inequality, and stationary of (X(t): t > 0)

$$\begin{split} P\Big\{ \sup_{0 \leqslant t \leqslant T} \|g(t)\| > \lambda \Big\} \leqslant & \frac{T}{\lambda^2} \, E[(f^*(\theta_0, X(0)))^*] \\ = & \frac{T}{\lambda^2} \, \beta_1, \text{ say.} \end{split}$$

Let

$$A_n = \left\{ \sup_{2^{n-1} \le t \le 2^n} \left| \frac{1}{t} \varrho(t) \right| > 2^{-n/4} \right\}.$$

154 ABUP BASU

Then

$$\begin{split} P(A_n) &< P\Big\{ \sup_{2^{n-1} < i < 2^n} |g(i)| > 2^{n-1} \cdot 2^{-n/4} \Big\} \\ &< P\Big\{ \sup_{0 < i < 2^n} |g(i)| > 2^{n-1} \cdot 2^{-n/4} \Big\} \\ &< \frac{2^n}{(2^{n-1} \cdot 2^{-n/4})^2 \beta_1} \end{split}$$

Thus $\Sigma P(A_n) < \infty$ and the lemma follows from Borel-Cantelli lemma.

Let

$$V(\theta, x) = f''(\theta, x) - f''(\theta_0, x)$$

$$X(t, \theta) = \int_0^t V(\theta, X(s)) d\xi(s).$$

Note that under A3, $(X(t,\theta):0 \le t \le T)$ as a function of θ , from Ω into $\mathfrak{C}[0,T]$ is a.s. continuous for all T>0 (See Basu, 1983) or Karandikar, 1983).

Lemma 3:

(i)
$$P\left\{\sup_{\theta} \sup_{0 \le t \le T} |X(t, \theta)| \ge C_1 \lambda^{1/d+a_0}\right\} \le C_2 \frac{T^{(d+a_0)/2}}{\lambda}$$

where C1, C2 are positive finite constants independent of T.

(ii) For very $\gamma > 1/(d+\alpha_0)$ there exists an H such that

$$\lim_{T\to\infty} \sup_{\theta} \frac{|X(T,\theta)|}{T^{1/2}(\log T)^{\gamma}} \leqslant H \text{ a.s.}$$

(iii)
$$\lim_{T\to\infty} \sup_{\theta} \frac{|X(T,\theta)|}{T} = 0$$
 a.s.

(iv)
$$\lim_{T\to\infty} \sup_{\theta} \frac{1}{T} \int_{0}^{T} f''(\theta, X(s)) d\xi(s) = 0$$
 a.s.

Proof: (i) and (ii) are proved in Basu (1983); (iii) is immediate from (ii): (iv) follows from (iii) and Lemma 2.

Lemma 4: Under A1, A2 and A3

(R) for each fixed t,

$$\lim_{T\to\infty}\log\,\gamma_T(t)=-\frac{1}{2}\,\beta t^2\ a.s.$$

(b) For every z, $0 < z < \beta$, there exists δ_0 and T_0 such that

$$\gamma_T(t) \leq \exp\left(-\frac{1}{2}t^2(\beta-\epsilon)\right)$$

for $|t| \leq \delta_0 T^{1/2}$ and $T > T_0$ a.s.

(c) For every $\delta > 0$, there exists a positive a and T_0 such that

$$\sup_{|t| > \frac{2}{3}T^2} \gamma_T(t) \leqslant \exp\left(-\frac{1}{4} T\epsilon\right) \text{ for } T \geqslant T_0 \text{ a.s.}$$

Proof:

$$\begin{split} \log \ \gamma_T(t) &= \int\limits_0^T \Big[f(\theta_T + \frac{t}{\sqrt{T}}, X(s) - f(\theta_T, X(s)) \Big] d\xi(s) \\ &- \frac{1}{2} \int\limits_0^T \Big[f\Big(\theta_T + \frac{t}{\sqrt{T}}, X(s)\Big) - f(\theta_0, X(s)) \Big]^2 ds \\ &+ \frac{1}{2} \int\limits_0^T [f(\theta_T, X(s)) - f(\theta_0, X(s))]^2 ds. \end{split}$$

Applying mean-value theorem and then the likelihood equation (1), it easily follows that

$$\log \gamma_{T}(t) = I_{1} + I_{2} + I_{3} + I_{4}$$

where

$$\begin{split} I_1 &= \frac{-t^3}{2T} \int\limits_0^T f'^1(\theta_0,X(s))ds \\ I_2 &= \frac{t^3}{2T} \int\limits_0^T \left[f'^2(\theta_0,X(s)) - f'^2(\theta_T^{so},X(s)) \right] ds \\ I_3 &= \frac{t^3}{2T} \int\limits_0^T f''(\theta_T^s,X(s)) d\xi(s) \\ I_4 &= -\int\limits_0^T \left[f(\theta_T,X(s)) - f(\theta_0,X(s)) \right] \\ & \left[f\left(\theta_T + \frac{t}{\sqrt{T}},X(s)\right) - f(\theta_T,X(s)) - \frac{t}{\sqrt{T}} f'(\theta_T,X(s)) \right] ds \end{split}$$
 where $\max(|\theta_T^s - \theta_T|, |\theta_T^{so} - \theta_T|) \leqslant \frac{|t|}{\sqrt{T}}.$

(a) By Ergodic theorem

$$I_1 \rightarrow \frac{-l^2}{2} \beta$$
 s.s. as $T \rightarrow \infty$.

Also by Ergodic theorem \exists a constant M and T_0 such that

$$\frac{1}{T} \int_{0}^{T} J(X(s))(1+|X(s)|)ds \leq M \text{ a.s. for } T > T_0. \qquad \dots (2)$$

Under assumption A_2 , (ii) and (iii), consistency of θ_T and (2) it follows that $I_2 \to 0$ a.s. as $T \to \infty$.

By mean value theorem

$$\mid I_{4}\mid \; \leqslant C_{0}\mid \theta_{T}-\theta_{0}\mid \; \frac{t^{2}}{T}\int\limits_{0}^{T}J(X(s))(1+\mid X(s)\mid)ds$$

and hence $I_4 \to 0$ a.s. as $T \to \infty$.

By Lemma 3, $I_3 \to 0$ a.s. as $T \to \infty$. Hence (a) is proved.

(b) Fix $\epsilon_1 > 0$. Clearly there exists a T_1 such that

$$\forall T > T_1 - \frac{1}{2} \int_{T}^{2} \int_{T}^{T} f'^2(\theta_0, X(s)) ds < -\frac{1}{2} t^2(\beta - \varepsilon_1) \text{ a.s.} \qquad \dots \quad (\Delta)$$

By Lemma 3 there exists a T_2 such that $\forall T > T_2$

$$\sup_{\theta} \frac{1}{T} \int_{\delta}^{T} f''(\theta, X(s)) d\xi(s) \leqslant \varepsilon_{1}/2 \quad \text{a.s.} \qquad \dots \quad (B)$$

$$\begin{split} |I_1| &\leqslant \frac{i^2}{2T} \mid \theta_T^{so} - \theta_0 \mid \int\limits_0^T J(X(s)(1 + \mid X(s) \mid) ds \\ \\ &\leqslant \frac{i^2}{2T} \left(\frac{\mid t \mid}{\sqrt{T}} + \mid \theta_T - \theta_0 \mid \right) \int\limits_0^T J(X(s))(1 + \mid X(s) \mid) ds \\ \\ &\leqslant \frac{i^2}{2T} (\theta_0 + \mid \theta_T - \theta_0 \mid) \int\limits_0^T J(X(s))(1 + \mid X(s) \mid) ds \quad \text{if } \frac{\mid t \mid}{\sqrt{T}} \leqslant \delta_0. \end{split}$$

Using (2) and choosing δ_0 suitably and using consistency of θ_T , it follows that there exists a δ_0 and T_3 such that

$$\frac{|t|}{\sqrt{T}} \leqslant \delta_0$$
 and $T \geqslant T_3$ implies $I_2 \leqslant \frac{t^2}{2T}$ ϵ_1 a.s. ... (6)

Similarly using mean-value theorem and arguing as above, there exists a T_4 and δ_1 such that

$$\frac{|t|}{\sqrt{T}} \leqslant \delta_1$$
 and $T > T_4$ implies $I_4 \leqslant \frac{t^2}{2T} \epsilon_1$ a.s. ... (D)

Combining the estimates (A)-(D), (b) follows.

(a)
$$\log \frac{\gamma_{\mathbf{X}}(t)}{T} = \frac{1}{T} \int_{0}^{T} \left[f\left(\theta_{\mathbf{X}} + \frac{t}{\sqrt{T}}, X(s)\right) - f(\theta_{\mathbf{X}}, X(s)) \right] d\xi(s)$$

$$- \frac{1}{2} \frac{1}{T} \int_{0}^{T} \left[f\left(\theta_{\mathbf{X}} + \frac{t}{\sqrt{T}}, X(s)\right) - f(\theta_{0}, X(s)) \right]^{2} ds$$

$$+ \frac{1}{2} \frac{1}{T} \int_{0}^{T} \left[f(\theta_{\mathbf{X}}, X(s)) - f(\theta_{0}, X(s)) \right]^{2} ds$$

$$= A_{1}(t, T) + A_{2}(t, T) + A_{3}(T), \text{ say.}$$

Note that A_3 does not involve t and by arguments given earlier $A_3(T) \rightarrow 0$ a.s. as $T \rightarrow \infty$

$$\sup_{s} |A_{s}(t,T)| < 2 \sup_{s} \frac{1}{T} \left| \int_{s}^{T} f(\theta,X(s)) d\xi(s) \right| \to 0 \text{ s.s.}$$

Finally, by strong consistency, there exists a T_0 such that for all $T > T_{01} \mid \theta - \theta_{T} \mid \leq \delta$ a.s.

Hence if $\frac{|t|}{\sqrt{T}} > \delta$ and $T > T_0$, we have

$$\left|\theta_{T} + \frac{t}{\sqrt{\tilde{T}}} - \theta_{0}\right| > \delta/2.$$

Thus,

$$A_2 < -\frac{1}{2} \inf_{|\theta-\theta_1| > \delta/2} \frac{I_T(\theta)}{T} \rightarrow -\frac{1}{2} \lambda(\delta/2)$$
 s.s.

Putting these estimates of A_1 , A_2 and A_3 , (c) is proved.

Let K be a non-negative measurable function such that

(K1) There exists a number ϵ , $0 < \epsilon < \beta$, for which

$$\int_{-\pi}^{\pi} K(t) \exp\left(-(\beta-6)\frac{t^2}{2}\right) dt < \infty.$$

(K2) For every $\hbar > 0$ and every $\delta > 0$ $e^{-T^{\delta}} \int_{|t| > h} K(T^{1/h}h)\lambda(\theta_T + t)dt \to 0 \text{ a.a. as } T \to \infty.$

Lemma 5: Under A1, A2 and A3

(a) There exists a $\delta_0 > 0$ such that

$$\lim_{T\to\infty} \int_{|t|} \int_{\mathbb{R},T^{2}} R(t) \left| \gamma_{T}(t) \lambda \left(\theta_{T} + \frac{t}{\sqrt{T}} \right) - \lambda(\theta_{0}) exp\left(-\frac{1}{2} \beta t^{2} \right) \right| dt = 0 \text{ a.s.}$$

(b) For every $\delta > 0$

$$\lim_{T\to a} \int_{t} \int_{\mathbb{R}^{T}} \mathcal{R}(t) \left| \gamma_T(t) \lambda \left(\theta_T + \frac{t}{\sqrt{T}} \right) - \lambda (\theta_0) \exp\left(-\frac{1}{2} \beta t^2 \right) \right| dt = 0 \text{ a.s.}$$

Theorem 1: Under A1, A2 and A3

$$\lim_{T\to\infty}\int_{-\pi}^{\pi}K(t)\left|p^{\bullet}(t\mid X(t):0\leqslant t\leqslant T)-(\beta/2\pi)^{1}exp\left(-\frac{1}{2}\mid \beta t^{2}\right)\right|dt=0 \text{ a.s.}$$

We omit the proofs of Lemma 5 and Theorem 1, since the arguments are already available in Borwanker et al. (1971) and Prakasa Rao (1981).

Corollary : If further
$$\int\limits_{-\infty}^{\infty} |\theta|^m \lambda(\theta) d\theta < \infty$$
 for some m , then

$$\lim_{T\to\infty} \left| \int_{-\infty}^{\infty} \left| t \right|^{\infty} \left| p^{\bullet}(t \mid X(t) : 0 \leqslant t \leqslant T) - (\beta/2\pi)^{t} exp\left(-\frac{1}{2} \mid \beta t^{2} \right) \right| dt = 0 \text{ a.s.}$$

Remark: The case m=0 gives the classical Bernstein-von Miss theorem.

2. BAYES METIMATION

Suppose $l(\theta, \phi)$ is a loss function defined on $\Omega \times \Omega$. Assume that $l(\theta, \phi) = l(|\theta - \phi|) > 0$ and l(t) is nondecreasing. Suppose R is a non-negative function and K and G are functions such that

(B1)
$$R(T)l\left(\frac{t}{\sqrt{T}}\right) \leqslant G(t)$$
 for all $T \geqslant 0$,

(B2)
$$R(T)l(\frac{t}{\sqrt{T}}) \to K(t)$$
 uniformly on bounded intervals of t as $T \to \infty$

(B3)
$$\int_{-\infty}^{\infty} K(t+m)e^{-\frac{i}{2}\beta^{2}} dt \text{ has a strict minimum at } m=0,$$

A regular Bayes estimate θ_T based on $(X(t): 0 \le t \le T)$ is that which minimizes

$$B_T(\psi) = \int I(\theta, \psi) p(\theta \mid X(t) : 0 \leqslant t \leqslant T) d\theta.$$

Assume that such an estimator exists.

Theorem 2: Under A1-A3 and B1-B4, we have

(i)
$$\sqrt{T}(\theta_T - \hat{\theta}_T) \rightarrow 0$$
 a.s. as $T \rightarrow \infty$,

(ii)
$$\lim_{T\to\infty} R(T)B_T(\theta_T) = \lim_{T\to\infty} R(T)B_T(\theta_T)$$

= $(\beta/2\pi)^{\frac{1}{2}} \int_0^{\pi} K(t)e^{-\frac{1}{2}\beta t^2} dt$.

Proof: The proof can be found in Borwanker et al. (1971).

The following is not difficult to check.

Remark: Under A1-A3 and B1-B4

(i)
$$\hat{\theta}_T \to \theta_0$$
 a.s. as $T \to \infty$

(ii)
$$\sqrt{T}(\theta_T - \theta_0) \stackrel{\mathcal{L}}{\to} N(0, \beta^{-1})$$
 as $T \to \infty$.

Hence Bayes estimators are asymptotically normal and asymptotically efficient.

Remark (1): We could have made the weaker assumption that f with its relevant derivatives are for each fixed x, Lipschitz in θ of order α , $0 < \alpha < 1$, provided we made an appropriate stronger moment condition on J.

(2) Similarly in $A_3(ii)$ and $A_3(iii)$ the dominating function could be taken arbitrarily instead of the specific 1+|x|, say g(x), provided we assume $Eg^2(X(0)) < \infty$.

Acknowledgement. The author is grateful to Professor J. K. Ghosh for his help.

REFERENCES

Basawa, I. V. and Phakasa Rao, B. L. S. (1980): Statistical Inference for Stochastic Pprocesses, Theory and Methods, Academic Press, London.

BASU, A. (1983): Asymptotic theory of estimation in non-linear stochastic differential equation for the multiparameter case. Sankhyd A, 45, (1) 56-65.

BORWANKER, J., KALLIANFUR, G., and PRAKASA RAO, B. L. S. (1971): The Berustein-von mises theorem for Markov processes. Ann. Math. Statist., 24, No. 4, 1241-1253.

GERMAN, I. I. and SKOROEKOD, A. V. (1972): Stochastic Differential Equations, 1, Springer-Verlag.

RIFF, C. and MIGHEL, R. (1976): On the Bernstein-von Misse approximation posterior distribution. Ann. Statist., 4, No. 5, 972-980.

KARANDIKAR, R. L. (1983): Interchanging the order of stochastic integration and ordinary differentiation. Sankhyd A, 45, (1) 120-124. 160 ARUP BASU

KHASKONSKII, R. Z. (1960): Ergodic properties of recurrent diffusion processes and station of the solution to the Cauchy problem for parabolic equations. Theory of Problem and its Application, 5, 179-196.

- PRAKASA RAO, B. L. S. (1980): The Bernstein-von Mises theorem for a class of diffusion properties.

 Son. Theory of Random Processes, 9, 95-101 (In Russian).
- PRAKASA RAO, B. L. S. and RODEN, H. (1981): Asymptotic theory of estimation in non-line, stochastic differential equations. Sankhyā, 43, A (2), 170-189.

Paper received : March, 1982.